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Instructions
® Use black ink or ball-point pen
— pencil can only be used for graphs, charts, diagrams, etc.
® Fill in the boxes at the top of this page with your name, candidate number,
centre code and your candidate ID number.
® Answer all questions.
® Answer the questions in the spaces provided
— there may be more space than you need.
® Answers should be given to an appropriate degree of accuracy.
Information
® The total mark for this paper is 100.
® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.
® Calculators may be used.
Advice
® Read each question carefully before you start to answer it.
® Try to answer every question.
® You are advised to show your workings.
® Check your answers if you have time at the end.
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Answer ALL questions. Write your answers in the spaces provided.

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box £ and then mark your new answer with a cross [X.

You will need to use the data on page 3 of the Resource Booklet to answer parts (a) and (b).

1 (a) Prepare the suspense account.

Suspense Account

(b) Prepare the statement of financial position at 31 May 2018.

Glynis
Statement of financial position at 31 May 2018
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( )
(c) Identify the accounting concept that Glynis should comply with when
withdrawing cash for her own use from the business.
(1)
] A Accruals
[J] B Business entity
[J € Consistency
[l D Prudence
(d) Identify which one of the following concepts assumes that the business will
continue for the foreseeable future.
(1)
[J A Going concern
[J] B Materiality
[l € Prudence
[l D Realisation
(Total for Question 1 = 19 marks)
\ J
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You will need to use the data on page 4 of the Resource Booklet to answer parts (a) and (b).

2 (a) Prepare the appropriation account for the year ended 30 April 2018.
(11)

Novak, Roger and Rafael
Appropriation Account for the year ended 30 April 2018
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: On 1 May 2018, Novak retired from the partnership. At this date, the goodwill of the
S35 partnership was valued at $360 000
et
e (b) (i) Prepare ajournal entry to record the goodwill in the partnership books of
=L account.
: % A narrative is not required.
i (@)
=
o Journal
ST
’ E Date Account Debit Credit
)
2 S $
2 1 May 2018

Roger and Rafael remained in partnership, sharing profits and losses equally. They

decided that goodwill was not to be retained on the books of account.

(ii) Prepare ajournal entry to record the writing off of the goodwill from the

partnership books of account.
A narrative is not required.
(3)
Journal

: Date Account Debit Credit
S5 S $
S 1 May 2018
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(c) Identify the section of the statement of financial position where goodwill is shown.

O 0O O

|

O Nn w >

Current assets
Current liabilities
Non-current assets

Non-current liabilities

(1)

(d) Identify which statement is correct in the absence of a partnership agreement.

O Nn w >

(1)

0% interest on capital

0% interest on loan

0% interest on capital

5% interest on loan

5% interest on capital

0% interest on loan

5% interest on capital

5% interest on loan

(Total for Question 2 = 20 marks)
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You will need to use the data on page 5 of the Resource Booklet to answer parts (a), (b)
and (c).

3 (a) Prepare the insurance account for the year ended 31 March 2018.
Balance the account on this date and bring the balance down on 1 April 2018.
(5)

Insurance Account

(b) Calculate the charge to the manufacturing account for:

(i) insurance

(c) Prepare the accumulated depreciation - factory machinery account for the year
ended 31 March 2018.
Balance the account on this date and bring the balance down on 1 April 2018.

(4)

Accumulated Depreciation - Factory Machinery Account
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( R
(d) Explain one reason why a business prepares a manufacturing account.
(2)
(e) Complete the table with a tick (v) to show where in the financial statements of a
manufacturer each item of expenditure would be shown.
(6)
Manufacturing | Statement of
account profit or loss
Carriage inwards
Carriage outwards
Closing inventory - finished goods
Closing inventory — raw materials
Irrecoverable debt written off
Returns outwards
(f) Identify which of the following is included in prime cost.
(1)
[J A Factory supervisor wages
L[] B Inventory finished goods
[J € Inventory work in progress
[J D Production staff wages
(Total for Question 3 = 20 marks)
\ J
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You will need to use the data on page 6 of the Resource Booklet to answer parts (a), (b)
and (c).

4 (a) Prepare the subscriptions account for the year ended 30 April 2018. Balance the
account on this date and bring the balance down on 1 May 2018.

(8)

Subscriptions Account

(b) Prepare the trade payables ledger control account for the year ended 30 April 2018.
Balance the account on this date and bring the balance down on 1 May 2018.

(5)

Trade Payables Ledger Control Account

10
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(c) Prepare the statement of profit or loss for the year ended 30 April 2018, showing
the trading section only.

(5)
Maws Rowing Club Restaurant
Statement of profit or loss for the year ended 30 April 2018
(d) Explain two reasons why the balance on a receipts and payments account is
different from the balance on an income and expenditure account.

(4)
0000000000000
2 e et

(Total for Question 4 = 22 marks)
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You will need to use the data on page 7 of the Resource Booklet to answer parts (a), (b),
(c) and (e).

5 (a) Calculate the ratios for 2018.
(4)

Ratio 2018

Accounts receivables collection period in days

Accounts payables payment period in days

VAUV SIHL NI 34180 10N 00
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Gross profit as a percentage of revenue (margin)

Gross profit as a percentage of cost of goods
sold (mark-up)
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(b) Calculate the depreciation charge for the year ended:

(i) 31 March 2017
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The directors are considering changing the depreciation method from reducing _ A
(diminishing) balance to straight line.

5

(c) (i) State one other method of depreciation.

M 1ON 0

1

v

(i) Calculate the depreciation charge for the year ended 31 March 2018, using a
rate of 25% on a straight line basis.
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(d) Assess the effect on cashflow and profitability of the change in the method of
R S depreciation.

(4)
Cashflow
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(e) Complete the statement of changes in equity for the year ended 31 March 2018.
(5)

REEANN

Fenlator Ltd
Statement of changes in equity for the year ended 31 March 2018

Retained
Share capital earnings Total

$ $ $
Balance at 1 April 2017 28 000 62 440 90 440

Profit for the year

Dividend

Balance at 31 March 2018

(Total for Question 5 = 19 marks)

TOTAL FOR PAPER = 100 MARKS

 DONOTWRITEINTHISAREA

AR 00 O i
p 5 7 5§ 2 7 A 01 3 1 6



BLANK PAGE

14

p 5 7 5§ 2 7 A 01 4 1 6

23
02039

<®%>¢L,&‘ 29%0%
NIHV-S
%\ St

4%%
o

%
oo

SRR
35S

batote
$§;%

GRS
basetetetete
RRKS
q"%
RRRLK

0200 %2000 % %%
RS
RS
48 s
'd&’#&g\f
X RKAKHKKHKKX

S8

%!
<
oot

X
R

S
SRS
SO
SRR
55
SIS
SRRXLXS
SR IS

K

BB
Deseetlese!
POt ;9%
ploter eseld

A
SRS
prosotsosess
SRS
SRR

0
X
oo

XXX X
e
Desesesetetets

030!
%
K
%

8%

XX
XXX

XX
&

\". e
4 00\
A




s
K
3K

o
%
3%
3%
XX

>,
5
<

<

%S
R

XX
@@%ﬁ
XX

%5
RRRX:

-

9%~
%8°

St
20 o I

XK
090%6%%%
000‘0’0.‘

BLANK PAGE

X
opetetele

Slabe s
KRR

190909020 %
RRSZRIKL
K
XX X

58S
OT:
S5

p 5 7 5§ 2 7 A 01 5 1 6



BLANK PAGE

16

p 5 7 5§ 2 7 A 01 6 1 6




